Honors Precalculus ’17-18 Name gob U Ol )4?(_,

Trig Basics
Part [.--CALCULATOR ALLOWED

. 3
1. 2=
SIH(COS 4J

N
a. 0.438 @ 0.661 G, 0.821

d. 1.3238 g 1.528

2. The magnitude of v=7i —/6] is

@\/% b 1 e 13 d 85 e. 85
By In the triangle shown, which of the following best approximates x?
18
X
| 35°

a 10.32 b. 25.71 C. 12.60

S

d. 14.74 e. none of these




g(2,1) _

4. If f(x,y)=tanx+tany and g(x,y)=1—tanx-tany, then, in radians,

f(2.1)
W
@ -7.02 @ -0.14 c. 0 | = Tan 2|
d. 0.957 e. 9.971 Tad 2 + T |
5. In the figure below, tany=

; |
y A

/ K f.,(/,f:“’

VAN

\4

7 k T—k V49 - k? N\ V49 — k2
a —E b. 7 C —7 d. 7 €.) %




An mcline makes an angle of 60° with level ground. How many feet up the
incline must one go in order to rise 20 feet above the ground?

a. 10 b. 1043 d. 40 e 4043
2C 20
TRty B oy
S nlod 5

1 What is the measure of an angle whose sine is twice the cosine of 60°?

a  30° b 60° @ 90°

d. 120° e, No such angle
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1. (12, -13) is on the terminal side of 4. Find the six exact trig values:

2 A

SinA = e CSCA = E/S
]3\3

CoOsA= 12/— secA = ‘1%'?’/2—

NN

tanA= -1 BAL cotA== — 2/3

2. If cosB= —5/8 in QII, find the other five exact trig values:

sinB= ﬁ:}/ ¥ cscB= 5 39
cosB=—5/8 secB= “3/$‘
tanB = "r;% cotB== _“%@i

3. What are the approximate values, in degrees of 4 and B (from #land #2)?

A= =-Y3F.29( 30,

B= (2%.082 £36dq




4. (a) Find the approximate values of:
Cos-28= , A3
Sin-136°= — , LS
Tan234= —| 0633

Sec-717= |, 2%

Csc15.29°= 3, 4972

Cot2= —, USS
(b) Find the approximate values (in degrees) of:

-3 (, 06y 360,

& e o Sco DTl i _
Cos-1 1_705_{ ~NO SOL Sin-1 (-0.516)—{ 100 xob‘("'«ff%’é’d“

. o o 7 -+ g
Tan-1 0.758={ =z o 6251804 Sec-1 2.982={ 438 Y06 oafl s

0 .
~U7. 241t 3600

Csc-l -1.362= \ &
2273241 263



5. Aboat sails 48 mph at a bearing 0of 303°. The current flows 8 mph at 34°.
Find the magnitude and bearing of the resultant vector.

H¥as203T + 4¥Sn 303 7

=t

E (o)

2 2.335C 353837

\

\—r%\ = ] 2 2-‘??5%33‘.?%31

=2 Q8§1HMP“

32. 338 P
B~~~ Cos” (—‘z;’z = 5 gl

6. Identify the quadrant and reference angle of :

a) 732 QL 6= \2
b) -932° QI O =32
) 1345° & i i 6, = 85"

d) -632° Q 1 6,
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NO CALCULATOR ALLOWED

Round to 3 decimal places. Show all work

1. Fill in the coordinates from QII of the Unit Circle and the Table Values from

Radians | Degree | Cos Sin
o 0 \ o
-ﬁ/g, 30 (= > ' / 2
g |45 ‘= | e
ﬁ_/ 3 60 L{ 7 ’,:5/ 2
i - 190 & \

2. Find the exact value of the following:

7 9773'
5sin? — 2008
(El) S 4 3 S-(r\ G —~ 2_(11

ol - .
2 8
(b) sec%’—r—tan76 +Cotlé’r c5?7,1:
= "2, 2 +203
(2 (8)~(B) (&)= 22

(7 11 P =l
(c) sm(%}~3cos[%)+t&n[%] - (r—_];) -—3(0) =

. -B-E
(¢




